Ames-Minglewood Water Supply Corporation PO Box 1598 451 Donatto Liberty, Texas 77575 (936) 336-5883

### RATE CODES:

- 1 Residential
- 11 Commercial <sup>3</sup>/<sub>4</sub>"
- 12 Institution (Church, hospital, etc.)
- 13 Industrial
- 14 Agricultural
- 15 Multi-Family Residential

<u>FLAT RATE</u>	<b>USUAGE</b>	MINIMUM CHARGE
35.70	0	Minimum Charge
	2,000	\$1.00 per thousand
	4,000	\$2.50 per thousand
	4,000	\$3.50 per thousand
	10,000	\$4.50 per thousand
	10,000	\$5.50 per thousand
	Remainder	\$6.50 per thousand

## Sample Charge

	Cost	for 25,000 g	gallor	is v	vater
		Flat Rate		\$3	35.70
Tier	1	\$1.00 x 2		\$	2.00
Tier	2	\$2.50 x 4		\$ 3	10.00
Tier	3	\$3.50 x 4		\$ 3	14.00
Tier -	4	\$4.50 x 10	=	\$	45.00
Tier	5	\$5.50 x 5	=	\$2	27.50

25,000 minus 2,000 = 23,000
23,000 minus 4,000 = 19,000
19,000 minus 4,000 = 15,000
15,000 minus 10,000 = 5,000
last 5000 gallons

TOTAL \$134.20 (plus .5% water fee)

Ames-Minglewood Water Supply Corporation PO Box 1598 451 Donatto Liberty, Texas 77575 (936) 336-5883

RATE CODE

4 Multiple Meters

#### FLAT RATE \$53.40

USUAGE 0 3,000

Remainder

## MINIMUM CHARGE

Minimum Charge \$1.00 per thousand \$4.00 per thousand

Sample Charge Cost for 25,000 gallons of water

	Flat Rate	\$53.40
Tier 1	$1.00 \times 3 =$	\$ 3.00
Tier 2	\$4.00 x 22 =	\$88.00

25,000 minus 3,000 = 22,000 Remainder 22,000

TOTAL \$144.40

Ames-Minglewood Water Supply Corporation PO Box 1598 451 Donatto Liberty, Texas 77575 (936) 336-5883

## RATE CODE

6 – Commercial 2"

FLAT RATE \$145.65	<u>USUAGE</u> 0 4,000	MINIMUM CHARGE Minimum Charge \$3.50 per thousand
	4,000	\$4.50 per thousand
	8,000	\$5.50 per thousand
	Remainder	\$7.00 per thousand

#### Sample Charge

Cost for 25,000 gallons of water

	Flat Rate	\$145.65	
Tier 1	$3.50 \times 4 =$	\$ 14.00	25,000 minus 4,000 = 21,000
Tier 2	\$4.50 x 4 =	\$ 18.00	21,000 minus 4,000 = 17,000
Tier 3	$5.50 \times 8 =$	\$ 44.00	17,000 minus 8,000 = 9,000
Tier 4	$7.00 \times 9 =$	\$ 63.00	9,000 minus 9,000 = 0

TOTAL \$284.65 (plus .5% water fee)

## RATE CODE

8 – 1" Meter 19 – 1" Meter 20 – 1" Meter

<u>FLAT RATE</u>	<b>USUAGE</b>	MINIMUM CHARGE
\$62.91	0	Minimum Charge
	2,000	\$1.00 per thousand
	2,000	\$2.50 per thousand
	3,000	\$3.50 per thousand
	4,000	\$4.50 per thousand
	10,000	\$5.50 per thousand
	Remainder	\$6.50 per thousand

# Sample Charge

Cost for 25,000 gallons water

Flat Rate	\$62.91		
Tier 1	2.00	\$1.00 x 2	25,000 minus 2,000 = 23,000
Tier 2	5.00	\$2.50 x 2	23,000 minus 2,000 = 21,000
Tier 3	10.50	\$3.50 x 3	21,000 minus 3,000 = 18,000
Tier 4	18.00	\$4.50 x 4	18,000 minus 4,000 = 14,000
Tier 5	55.00	\$5.50 x 10	14,000 minus 10,000 = 4,000
Tier 6	26.00	\$6.50 x 4	4,0000
		-	

TOTAL \$179.41 (plus .5% water fee)

RATE CODE:

9 – Commercial 1 ½"

<u>FLAT RATE</u>	<u>USUAG</u>	E	MINIMUM CHARGE
104.28	0		Minimum Charge
	2000		\$3.00 per thousand
	2000		\$3.50 per thousand
	6000		\$4.50 per thousand
	10000		\$5.50 per thousand
	10000 Remainder		\$7.00 per thousand
			\$7.00 per thousand
Sample Charge	•		
	000 gallons o	f water	
Flat Rate	\$104.28		
Tier 1	6.00	\$3.00 x 2	25,000 minus 2,000 = 23,00

1 100 10000	φI01.20		
Tier 1	6.00	\$3.00 x 2	25,000 minus 2,000 = 23,000
Tier 2	7.00	\$3.50 x 2	23,000 minus 2,000 – 21,000
Tier 3	27.00	\$4.50 x 6	21,000 minus 6,000 = 15,000
Tier 4	55.00	\$5.50 x 10	15,000  minue  10,000 = 5,000
Tier 5	35.00	\$7.00 x 5	last 5,000 gallons

TOTAL \$234.28 (plus .5% water fee)

Ames-Minglewood Water Supply Corporation PO Box 1598 451 Donatto Liberty, Texas 77575 (936) 336-5883 .

## RATE CODE

16 - Senior 1" Meter

FLAT RATE	USUAGE	MINIMUM CHARGE
\$56.61	0	Minimum Charge
	2,000	\$1.00 per thousand
	2,000	\$2.50 per thousand
	3,000	\$3.50 per thousand
	4,000	\$4.50 per thousand
	10,000	\$5.50 per thousand
	Remainder	\$6.50 per thousand

## Sample Charge

Cost for 25,000 gallons water

Flat Rate	\$56.61		
Tier 1	2.00	\$1.00 x 2	25,000 minus 2,000 = 23,000
Tier 2	5.00	\$2.50 x 2	23,000 minus 2,000 = 21,000
Tier 3	10.50	\$3.50 x 3	21,000 minus 3,000 = 18,000
Tier 4	18.00	\$4.50 x 4	18,000 minus 4,000 = 14,000
Tier 5	55.00	\$5.50 x 10	14,000 minus 10,000 = 4,000
Tier 6	26.00	\$6.50 x 4	4,0000
		_	

TOTAL \$173.11 (plus .5% water fee)

### **RATE CODES:**

17 - Residential - Senior Citizen

FLAT RATE	<u>USUAGE</u>	MINIMUM CHARGE
32.13	0	Minimum Charge
	2,000	\$1.00 per thousand
	4,000	\$2.50 per thousand
	4,000	\$3.50 per thousand
	10,000	\$4.50 per thousand
	10,000	\$5.50 per thousand
	Remainder	\$6.50 per thousand

# Sample Charge

Cost fo	r 25,000 gallo	ns water	
Flat Rate	\$ 32.13		
Tier 1	\$ 2.00	\$1.00 x 2	25,000 minus 2,000 = 23,000
Tier 2	\$ 10.00	\$2.50 x 4	23,000 minus 4,000 = 19,000
Tier 3	\$ 14.00	\$3.50 x 4	19,000 minus 4,000 = 15,000
Tier 4	\$ 45.00	\$4.50 x 10	15,000 minus 10,000 = 5,000
Tier 5	\$ 27.50	\$5.50 x 5	last 5000 gallons

TOTAL \$134.20 (plus .50% water fee)

#### RATE CODE

18 - Senior Citizen Multiple Meters

FLAT RATE \$48.06 USUAGE 0 3,000 Remainder

#### MINIMUM CHARGE

Minimum Charge \$1.00 per thousand \$4.00 per thousand

= 22,000

#### Sample Charge

Cost for 25,000 gallons of water

Flat Rate	\$48.06		
Tier 1	3.00	\$1.00 x 3	25,000 minus 3,000
Tier 2	88.00	\$4.00 x 22	Remainder 22,000

TOTAL \$139.06 (plus .5% water fee)

# RATE CODE

23 – Commercial 3"

FLAT RATE \$226.19	<u>USUAGE</u> 0 4,000	MINIMUM CHARGE Minimum Charge \$3.50 per thousand
	4,000	\$4.50 per thousand
	8,000	\$5.50 per thousand
	Remainder	\$7.00 per thousand

# Sample Charge

Cost for 25,000 gallons of water

	Flat Rate	\$226.19	
Tier 1	$3.50 \times 4 =$	\$ 14.00	25,000 minus 4,000 = 21,000
Tier 2	$4.50 \times 4 =$	\$ 18.00	21,000 minus 4,000 = 17,000
Tier 3	\$5.50 x 8 =	\$ 44.00	17,000 minus 8,000 = 9,000
Tier 4	$7.00 \times 9 =$	\$ 63.00	9,000 minus 9,000 = 0

TOTAL \$365.19 (plus .5% water fee)